

$$1. \quad y = 3x^2 - 2x \text{ at point } (2, 8)$$

$$\frac{dy}{dx} = 6x - 2$$

$$m = \left. \frac{dy}{dx} \right|_{x=2}$$

$$m = 6(2) - 2$$

$$= 12 - 2$$

$$= 10$$

for tangent of the curve.

$$y - y_1 = m(x - x_1)$$

$$y + \frac{1}{9}x - \frac{1}{3} - \frac{1}{3} = 0$$

$$y + \frac{1}{9}x - \frac{2}{3} = 0$$

multiply through by 9

$$9y + x - 6 = 0 //$$

for Normal of the Curve

$$m_2 = -1 \times -9$$

$$m_2 = +9$$

$$y - \left(\frac{1}{3}\right) = 9(x - 3)$$

$$y - 9x = \frac{1}{3} + 27$$

$$y - 9x = \frac{80}{3}$$

multiply through by 3

$$3y - 27x + 80 = 0 //$$

$$3y = \frac{x^3}{2} \text{ At point } (-1, -\frac{1}{2})$$

$$y = \frac{x^3}{2}$$

$$\frac{dy}{dx} = \frac{2 \cdot 3x^2 - x^3 \cdot 0}{(2)^2} = 4$$

$$\frac{dy}{dx} = \frac{6x^2}{4}$$

$$m = \frac{6(-1)^2}{4} = \frac{3}{2}$$

For tangent

$$y - (-\frac{1}{2}) = \frac{3}{2}(x - (-1))$$

$$y + \frac{1}{2} = \frac{3}{2}(x + 1)$$

$$y + \frac{1}{2} = \frac{3}{2}x + \frac{3}{2}$$

$$y - \frac{3}{2}x + \frac{1}{2} - \frac{3}{2} = 0$$

$$y - \frac{3}{2}x - 1 = 0; \quad 2y - 3x - 2 = 0$$

~~Equation for the normal~~

$$y + \frac{1}{2} = -\frac{2}{3}(x + 1)$$

$$3y + \frac{3}{2} = -2x - 2$$

$$3y + 2x + \frac{7}{2} = 0$$

$$3y = -2x - \frac{7}{2}$$

Equation of normal

$$m = -\frac{1}{\frac{3}{2}} = -\frac{2}{3}$$

$$y + \frac{1}{2} = -\frac{2}{3}(x + 1)$$

$$3y + \frac{3}{2} = -2x - 2$$

$$3y + 2x + \frac{7}{2} = 0$$

$$3y = -2x - \frac{7}{2}$$

Name: Akhali Akher
Matric No: 19/19H501/086
Department: MBBS

$$y = 2x^2 \text{ at the point } (1, 2)$$
$$\frac{dy}{dx} = 4x$$

$$m = \left. \frac{dy}{dx} \right|_{x=1}$$
$$= 4(1) = 4$$

For Tangent of the Curve:

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$y - 4x - 2 + 4 = 0$$

$$y - 4x + 2 = 0$$

For Normal of the Curve

$$m_2 = -\frac{1}{4}$$

$$y - 2 = -\frac{1}{4}(x - 1)$$

$$y - 2 = -\frac{1}{4}x + \frac{1}{4}$$

$$y + \frac{1}{4}x - 2 - \frac{1}{4} = 0$$

$$y + \frac{1}{4}x - \frac{9}{4} = 0$$

Multiply through by 4 $= 4y + x - 9 = 0$

4) $y = 1 + x - x^2$ at point $(-2, -5)$

$$\frac{dy}{dx} = 0 + 1 - 2x$$

$$\frac{dy}{dx} = 1 - 2x \quad \left| \begin{array}{l} m = 1 - 2(-2) \\ m = 1 + 4 \\ m = 5 // \end{array} \right.$$

for Tangent

$$y - y_1 = m(x - x_1)$$

$$y - (-5) = 5(x - (-2))$$

$$y + 5 = 5(x + 2)$$

$$y + 5 = 5x + 10$$

$$y - 5x + 5 - 10$$

$$y - 5x - 5 = 0 //$$

for Normal

$$m = -\frac{1}{5}$$

$$y + 5 = -\frac{1}{5}(x + 2)$$

$$y + 5 = -\frac{1}{5}x + -\frac{2}{5}$$

$$y + \frac{1}{5}x + 5 + \frac{2}{5}$$

$$y + \frac{1}{5}x + \frac{27}{5} = 0$$

Multiply through by 5

$$5y + x + 27 = 0$$

$$3) y = 1/x$$

$$\frac{dy}{dx} = \frac{x \cdot 0 - 1 \cdot 1}{x^2}$$

$$\frac{dy}{dx} = -1/x^2 \quad | \quad m = -1/9$$

for tangent

$$y - (1/3) = -1/9 (x - 3)$$

$$y - 1/3 = -1/9 x + 1/3$$

$$y - 1/3 = 1/9 x + 1/3$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y - 10x - 8 + 20$$

$$y - 10x + 12 = 0 //$$

for Normal

$$m = -1/10, m_2 = -1/10$$

$$y - 8 = \frac{-1}{10} (x - 2)$$

$$y - 8 = -1/10 x + 1/5$$

$$y + \frac{1}{10} x - 8 - \frac{1}{5} = 0$$

$$y + \frac{1}{10} x - \frac{41}{5} = 0$$

multiply through by 10
 $10y + x - 82 = 0$